© Unit2(1.4) Practice with Log Properties ( )

1. log;(4x +35) =3

X=T]

3. Ioglg(x e 4‘) == 109195 - 109193

&

5. 109172 + 10917496 = 4log174

2 logzx g logz(x = 12) =6

X=lb X3 ¥

4. 3logeS = logeSx

X=25

6. logg52x — loggl3 =2

X=I



7. loge(2x — 2) = logy(x — 5) = loge6 8. log,(x + 2) + log,6 = 4

=7 -2
‘ oo

9. 6logs2 — 3logs2 = logs32x 10. 3log;x = 2log,8
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13. log,4 — log,(x + 3) = log,8 14. log,(5x— 1) =2
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15. 8log,4 = 2log;x 16. loge2x + loge8 = loge80
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17. log,x — log,3 = log,7 18. 3logg2 — logg4 = loggx
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19.log.4(3x+4) =0 20. logzx + logs3 =3
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21. log,(x +4) — log,(x —3) =3 22. logy(x+ 1) —log,(x—2)=1
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23. 2logsx = 4 24.1logg48 — loggx = logg4
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25.10go(3x + 14) — loge5 = loge2x
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29.log4 +logx =2
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26. logis(x + 3) + logisx = logs4
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30. logg(x —3) + logg(x +4) =1
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